Simplificar Expresiones (G)

. —84522+72+5

. 1—c—9cz+cz

. 3b—5v: 4+ by +?

. —143c2—-3+5

L9+ 143u2—1

Simplifique cada expresion.

6. 3—u-+"T7u—3ux

7. =3+y+Tuy—y

8. v+ 10v +v+5

9. —9a+1—10—¢?

10. 14+x2+7x%—x
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Simplificar Expresiones (G) Respuestas

. —84522+72+5
=672 -3

1—c—9cz+cz
= —8cz—c+1

. 3b— 5V +bv+1?
= —h?+bv+3b

—143c¢2—-3+5
=3c?+1

94+ 1+43u>—1
=3u’*+9

Simplifique cada expresion.

6. 3—u-+"7u—3ux
= —3ux+6u+3

7. =3+y+Tuy—y
= Tuy —3

8. V2+10v:+v+5
=11V’ +v+5

9. —9a+1—10—¢?
=—c*-9a—9

10. 1+x2+7x%—x
=8x*—x+1
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